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Indirect Reasoning
(Proof by Contradiction)

All possibilities are considered
All but one are eliminated (proven false)
The remaining one is the answer (proven true) I

Example: The classic board game Clue is played using Inductive Reasoning.
In the game there are Suspects, Weapons, & Rooms.
To win the game you need to determine who the murder was, what the
murder weapon was and in which room the murder took place.

Using the clue sheet, you eliminate
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Indirect Reasoning Steps

Generally, we try to apply indirect reasoning to problems that have 2 possibilities:
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"it is” or "it isn't"

Steps:
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Example:

Given: You have been dealt the Colonel Mustard card.
Prove: Colonel Mustard is not the murder.

Proof: .
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Let's Try a Geometry Example:

Given: AABC
Prove: AABC can't have more than 1 obtuse angle.

Proof:
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2. Then each of the two obtuse angles is greater than
90°. So, their sumis Aond Hacn [50 .

This is a contradiction because ¢ A o QB

‘n@g'tl.\u.b (goo-.
3. "&‘\“$ hﬂ‘@( (Cw\“\" Lot natent, ‘u«c..f\ 1 (Tlfsrug—? C .
One more Example: Proof:
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Prove: AB = DE




